
f(u) = x2 +ux= 0
, 2

,
-2

x = 0- f(0) =10)+ y

f(0) = U

x = 2 -> f(z) = (2)+ 4

f(z) = 8

x = 2 + f(- z) = (-2)" + 4

Y
+ 4

f( -2) = 8

I Y

2

-2 &

x

f(x)



Find the value of x :

Constant Function: f(x)= C

Linear Function: f(x)= aX+b

&

-

a)7 - 4x = 3

7 = 3 = nu

Y = ux

x = 1

6)6 + 3(x -5)46
=

3
2

3(b + 3(x- 5)) = 2(ux)

18 + 3(3x- 1) = 8x

18 + 94 -
45 = 04

94 - 8x = 45 - 18

x = 27



a)(2x + 3)2

(2x)2 + 2(2)(3) +(3) = 4x2 + 12x + 9

b)(x2= 5)

(x) - z(x))(5) +(5)" = x"
= 10u2+ 25

c)x2 - 9
-
-

(x -3)(x + 3)
= (x +x -(x - ) = x- 9

-

d)c"
= 16

(2-4)((++7) => (x -2)(+2)(4+4)



Quadratic equation:

Solve:

ax"
+ bx + c = 0

a)x- 3x = - 2

x2- 3x + 2 = 0 mode 53

x= 2
, k = 1

(x - 2)(x-
1) = 0 -

xz = 0 -x=
2

x = 0 -x =
1

(2)" 3(2) + 2 = u - 6 + 2 = 0

(1)
2

-
3(1) + 2 = 1 - 3 +2 =

8

b)6x2- 17x = - 12 ->
6x2-172 +1 = 0 mode s3

a = 6
,

b = - 17
, c = 12

X =

-
b + 62 - ua

- ( - (7) (-7) - 4(b)(2)

=

2a 2(6)

209-208
x= = x = t =



Logarithmic Function:

Logarithmic properties, If x&y are positive.

Solve:

109
,
x =y B = x

1. 109 p(x3) = 109 /x + 109p]

2. 109 (5) = 109
,

- 10932

3. 109y(xV) = v 109yk

a) 109
,

16 = y

109yx =3 B = x
, 109216 =22 = 16

Y Y

2 = 16 - 2 = 2

"T = 2 j = Y

6) 109
,

8
= 3

Y109
,
u = 3 = 6 = x

, 1098 =3 2 = 0

33

2 = 212 = 8

3 = 2 y = 3



Natural Logarithm:

The logarithm with base e => ln

Find the value of x :

e2 . 718 ---

109
,
x = inc

In s 109eK
e = u

, e = x

a) 3 - ux
= 12

3 - 44

In e, = In((z)

3 - ux = In(12)

- ux = (n((z) - 3

x = ((n(2)
- 3

=- x =

- (n((z) +

Y



2x

b)e
= 3

zu

2

Yne = In(3)

2x

e = (n(s) - ye = In(in(31)

2x = In (in(31)

x = In (in(3))
2


